Concurrency control 
· We will illustrate the ‘lost update’ and the ‘inconsistent retrievals’ problems which can occur in the absence of appropriate concurrency control

· a lost update occurs when two transactions both read the old value of a variable and use it to calculate a new value

· inconsistent retrievals occur when a retieval transaction observes values that are involved in an ongoing updating transaction

· we show how serial equivalent executions of transactions can avoid these problems

· we assume that the operations deposit, withdraw, getBalance and setBalance are synchronized operations - that is, their effect on the account balance is atomic.

